Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in Assam
Rifles Examination, 2018

[Roll No. :

Registration

No.

IName :

Exam Venue - iON Digital Zone iDZ Gram Raigawan Near Patan
Bypass

[Exam Time:  [4:00 PM - 5:30 PM

[Exam Date :  [02/03/2019

Section : General Section
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Question ID : 9895808270
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Question ID : 9895808288
Chosen Option : 1

Q4 rg e 1 aw = St oot Op & ot A aeiE O ven o or o s @ s

4 8371580
Ans X 1122
v 2120
X3 128
X4 118

Question ID : 9895808279
Chosen Option : 2
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Question ID : 9895808285
Chosen Option : 1
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Question ID : 9895808265
Chosen Option : 4
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Question ID : 9895808266
Chosen Option: 1
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Question ID : 9895808273
Chosen Option : 2
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Question ID : 9895808275
Chosen Option : 1
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Question ID : 9895808271
Chosen Option : 1

Q1 o1 oo o1 w8 2 o 3wy s R B e S o 5 # e
Pe.ovg:: 790w

Ans O 1 AT

X >

X5 g

v T

Question ID : 9895808268
Chosen Option : 4
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Question ID : 9895808281
Chosen Option : 4
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Question ID : 9895808282
Chosen Option : 4
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Question ID : 9895808269
Chosen Option : 2
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Question ID : 9895808276
Chosen Option : 4
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Question ID : 9895808264
Chosen Option : 4
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Question ID : 9895808283
Chosen Option : 4
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Question ID : 9895808280
Chosen Option : 2
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Question ID : 9895808267
Chosen Option : 2
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Question ID : 9895808287
Chosen Option: 1
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Question ID : 9895808284
Chosen Option : 4
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Question ID : 9895808272
Chosen Option : 2
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Question ID : 9895808286
Chosen Option : 1
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Question ID : 9895808277
Chosen Option: 3
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Question ID : 9895808278
Chosen Option : 3
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Question ID : 9895807333
Chosen Option : 3
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Question ID : 9895807332
Chosen Option : 2
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Question ID : 9895807337
Chosen Option : 4
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Question ID : 9895807342
Chosen Option : 2
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Question ID : 9895807335
Chosen Option : 1
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Question ID : 9895807350
Chosen Option : 1
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Question ID : 9895807330
Chosen Option : 3
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Question ID : 9895807351
Chosen Option: 3
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Ans < 1. Water breeze
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/< 3. Sea breeze
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Question ID : 9895807345
Chosen Option : 2
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Question ID : 9895807340
Chosen Option : 2
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Question ID : 9895807341
Chosen Option : 3
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Question ID : 9895807334
Chosen Option : 1
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Question ID : 9895807352
Chosen Option : 2
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Question ID : 9895807338
Chosen Option : 3
s resources are those whose quantity is known.
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Question ID : 9895807347
Chosen Option: 1
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Question ID : 9895807339
Chosen Option : 4
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Question ID : 9895807343
Chosen Option: 3
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Question ID : 9895807331
Chosen Option : 2
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Question ID : 9895807336
Chosen Option : 4
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Chosen Option : 4
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Question ID : 9895807348
Chosen Option : 4
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Question ID : 9895807346
Chosen Option : 3
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Question ID : 9895807329
Chosen Option : 2
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Question ID : 9895807344
Chosen Option : 2
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Question ID : 9895807349
Chosen Option: 3
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Chosen Option: 3
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Question ID : 9895807664
Chosen Option : 2
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Chosen Option: 2
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Question ID : 9895807654
Chosen Option : 4
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Question ID : 9895807671
Chosen Option : 2
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Question ID : 9895807666
Chosen Option : 4
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Question ID : 9895807672
Chosen Option: 3
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Question ID : 9895807667
Chosen Option: 3
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Question ID : 9895807665
Chosen Option : 3
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Question ID : 9895807675
Chosen Option : 4
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Question ID : 9895807656
Chosen Option : 1
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Chosen Option : 3
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Question ID : 9895807668
Chosen Option : 4
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Chosen Option : 2
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Question ID : 9895807660
Chosen Option : 1
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Chosen Option: 1
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Question ID : 9895807655
Chosen Option : 4
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Question ID : 9895807658
Chosen Option: 3
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Question ID : 9895807676
Chosen Option : 3
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Chosen Option : 2
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Question ID : 9895807657
Chosen Option: 2
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Question ID : 9895807674
Chosen Option : 1
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Question ID : 9895807662
Chosen Option: 1
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Question ID : 9895807661
Chosen Option : 1

Section : English Language
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Ans % 1. No improvement
/< 2. internet enable job - seekers
« 3. the Internet enables job - seekers

/< 4. internet enables job - seekers

Question ID : 9895807986
Chosen Option : --

Q.2 felwl ke 2wt sppmipmise wdzen Rosnbaiiog e ol semest in e oives semtemes, 100y s mo nees

+dislinlz il s W bigaaeaed

It 15 the 2dverscsy that makes oo stroneer kisdes and gos seperous s bagors o Jite.
Ans X 1. more generous than before in life.

/< 2. No improvement

' 3. most generous than before for life.




/< 4 the most generous than before in life.

Question ID : 9895807988
Chosen Option : --
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Ans  of 1. The pancreas plays
/< 2. in digestion and regulating
/< 3. an important role

/< 4. in living bodies

Question ID : 9895807985
Chosen Option : --

Q4 Select the synonym of the given word.

ABRUPTLY
Ans X 1. Easily

/< 2. Suddenly
/< 3. Leisurely
W 4 Slowly

Question ID : 9895807997
Chosen Option : --

Q5 Select the correctly spelt word.
Ans X 1. Synchroneze

+ 2 Synchronize

/< 3. Snychronize

/< 4 Synchornize

Question ID : 9895808006
Chosen Option : --

Q6 Select the most appropriate option to fill in the blank.

Most often T wish I his luck.

Ans - X 1. would had
X 2 had
& 3. have
« 4 has




Question ID : 9895807990
Chosen Option : --

Q7 Select the antonym of the given word.

ADAMANT
Ans  of 1. Agreeable
X 2 Firm
/< 3. Innocent
X 4 Gullible

Question ID : 9895807999
Chosen Option : --

Q.8 .omrthe piver opbocs. whenbdy the sagmem in the santence wiich containg the greoonarical soroe.
Tesheasdoery plays oetial vole dl Goe ek TS e fol s the e ol dotman dvilisaliog weaessdy,
Ans X 1. human civilisation unceasingly
/< 2 at the modern life and
« 3. Technology plays a vital role

/< 4 influences the course of

Question ID : 9895807984
Chosen Option : --

Q.9 Select the most appropeiate word 1o fill in the Hank.
Tapanese seonkeys have been spotied  baths n man - ade ot speings duriag winter
Ans 3 1. assembling
/< 2. soothing
/3. making
4 taking

Question ID : 9895808008
Chosen Option : --
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Ans % 1. anyone who crosses the line
« 2 anyone who will crosses the line
/< 3. No improvement

/< 4. anyone that cross the line

Question ID : 9895807987
Chosen Option : --




Q.1 T
; Select the synonym of the given word.

PLEA

Ans x 1. nght
/< 2. Duty
v 3 Appeal
X 4 Claim

Question ID : 9895807998
Chosen Option : --

Q1 e
, Select the antonym of the given word.

CAJOLE

Ans 5 1. Repulse
/< 2. Request
/< 3. Rejoice
« 4 Response

Question ID : 9895808000
Chosen Option : --

Q.1
3

Ans 3 1. Magnficent
/< 2. Magnificaent
« 3. Magneficent
/< 4 Magnificent

Select the correctly spelt word.

Question ID : 9895808005
Chosen Option : --

| imakile 1n iy the daints, F1e whale Fmily is frced o spen: savem? days in 2 jail,
Ans % 1. the whole family

/< 2. days in a jail

/< 3. is forced to spent

+ 4 Unable to pay the debts
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4

Question ID : 9895807983
Chosen Option : --
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Ans 5 1. contacts
W 2 effects
/< 3. influences

/< 4 connections

Question ID : 9895808007
Chosen Option : --

°é1 Select the word which means the same as the group of words given.

The arrangement of events or dates in the order of their occwrence.
Ans X 1. Chronology

« 2. Cataloguing

/< 3. Classification

/< 4 Customisation

Question ID : 9895808004
Chosen Option : --

Qf Select the option that means the same as the given idiom.

To cry over spilled milk

Ans X 1. To regret about that which cannot be rectified
« 2 To cry for trivial matters

/< 3. To cry for milk products

/< 4. To cry for that which cannot be made possible

Question ID : 9895808001
Chosen Option : --

°é1 Select the word which means the same as the group of words given.

A solution or remedy for all difficulties or diseases.
Ans  of 1. Medicine

/< 2. Diagnosis

/< 3. Treatment

/< 4. Panacea

Question ID : 9895808003
Chosen Option : --

Q.1




Select the option that means the same as the given idiom.

A leopard can't change its spots.

Ans «1

A leopard can be found easily because of its spots in a jungle
/< 2. A leopard’s without spots cannot be found easily in a jungle
/< 3. It is impossible for one to change one’s character

/< 4 Tt is possible to change someone’s character

Question ID : 9895808002

Chosen Option : --
062 Select the most appropeiste option to B m ibe bEank
It ks wonsdesful that axhety is a good example of 3 condition tlsat woiks  of apaist us
Ans x 1. of
< 2 about
X 3. around
v 4 for

Question ID : 9895807989
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Integration in the groupn means munal fHes (1) its mernbers. The
quality of tigs may differ from group 1o gronp. Inteeration has teo (2)

- one is the process of integration and the other is the unified
conditions. As a process, inmegration always goes (3) in the
society. Social system keeps changing and the units keep (4)
themselves accordingly. Sometimes change in a single unit also changes
the whole system. Integration is the balance between the whole and its
umnits. When this balance is (5) . disintegration begins in the
sysiem.

SubQuestion No : 21

0'2 . . . "
;~ Select the most appropriate option that will fill in the
blank number 1.

Ans X 1. between
« 2. among

/< 3. together
# 4 both

Question ID : 9895807992
Chosen Option : --




Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given,

Integration in the groun means munal fHes (1) its mermbers. The
quality of tigs may differ from group o gronp. Intecration has tea (2)

= one is the process of integration and the other is the unified
conditions, Asa process, intepration always goes (3) in the
society. Social system keeps changing and the units i-::eep 4
themselves accordingly, Sometimes change in a single unit also changes
the whole system. Integration is the balance between the whole and its
units. When this balance is (5) . disintegration begins in the
systemn.

SubQuestion No : 22

0.2 . . - .
5 Select the most appropriate option that will fill in the
blank number 2.

< 1. methods
o 2. agencies
7< 3. measures

/< 4. aspects

Question ID : 9895807993
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Integration in the groupn means muial fHes (1) its mernbers. The
quality of tigs may differ from group o gronp. Inteeration has teo (2)

- one is the process of integration and the other is the unified
conditions, Asa process, intepration always goes (3) in the
society. Social system keeps changing and the units E{ea-p (4
themselves accordingly. Sometimes change in a single unit also changes
the whole system. Integration is the balance between the whole and its
. disintegration begins in the

sysiem.
SubQuestion No : 23

0'2 . . . "
5 Select the most appropriate option that will fill in the
blank number 3.

#< 1. under
v 2 off
/< 3 in
< 4 on

Question ID : 9895807994
Chosen Option : --




Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Integration in the group means munal tHes (1) its mernbers. The
quality of tigs may differ from group o gronp. Inteeration has teo (2)

- one is the process of integration and the other is the unified
conditions, Asa process, intepration always goes (3) in the
society. Social system keeps changing and the units keep (4
themselves acmrdmnlj,r Sometimes change in a single unit also cha n:hﬂ.ﬂpes
the whole system. Integration is the balance between the whole and its
units. When this balance is (3 . disintegration begins in the
sysiom.

SubQuestion No : 24

0.2 . . . "
o+ Select the most appropriate option that will fill in the
blank number 4.

/< 1. admitting
/< 2. adjusting
« 3 administering

/< 4. admiring

Question ID : 9895807995
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Integration in the groupn means munal Hes (1) its mernbers. The
quality of tigs may differ from group o gronp. Intecration has teo (2)

- one is the process of integration and the other is the unified
conditions, Asa process, intepration always goes (3) in the
society. Social system keeps changing and the units keep (4
themselves acmrdmnlj,r Sometimes change in a single unit also cha n:hﬂ.ﬂpes
the whole system. Integration is the balance between the whole and its
umnits. When this balance is (5) . disintegration begins in the
sysiom.

SubQuestion No : 25

0.2 . . . "
o Select the most appropriate option that will fill in the
blank number 5.

W . disrupts
/< 2. disrupt
/< 3. disrupting
/< 4 disrupted

Question ID : 9895807996




l Chosen Option : --

Comprehension:

forafafas ey F o wet f ofF e F @ T
T AT F FFAR FfAT-

TFAH (1) ==omfes o= 3= &) 3 93 &+
Tl o =927 =7 (2) FAY gT | SHF A=A
T fiF smE=TEat (3) Tfee ¥ wrar wfgw) g
WO & TIeT| @Sl 1 FEn A (4)ymfew| E=m
T OFHEREr R OAReTH W (5) & Fgo=T R
SubQuestion No : 1

! gy F wafag fea == (1) & R
39geF 2TeE B

Ans X 1. TE
K2 &wH
X 3 FBIT
v TS

Question ID : 9895806772
Chosen Option : 4

Comprehension:

e ey F o waer f1 5fF aEmnr F A 2w
T TR F FFAR AT

=T FETH (1) ==omfEs o 3T &) T amE F
g dw s & (2) §910 g0 91 39 F=a0
T fF =TTt @ (3) Tier ¥ dra=r i) B
O 3 IieT| wA & et & (4)=nigw| Torem
T FUGET F ATH W (5) ¥ === =iew)
SubQuestion No : 2

2 sreamer & wHfaT Reg = (2) F B
3UgFT US|

Ans 1. 37T
< 2 gehreRd
V3 H9eT




X 4 3TeTERT

Question ID : 9895806773
Chosen Option: 3

Comprehension:

ferafafas ey F o met f1 ofF =T F @ 2w
mmﬂﬁagﬂn#‘ﬁv—

=T FATH (I =enEE T i ) faam #

iECar-cl-yil-Eir i (2) FAY gT | SHF A=A

ar B st @ (3) efer & wraar ofem) =

O T FIET| WS 1 EEn H (4)ymfew| =
T FTUEET F AETH W (5) & sEeraT =Ry

SubQuestion No : 3
® ey & AT g = (3) F fvw
3UgFT ATeE ET
Ans  of 1. TR
X 2 g
X o wFfaa
< 4 gfror

Question ID : 9895806774
Chosen Option: 1

Comprehension:

T ey F o wet f ofF e F A 2w
T TR F FFAR AT

=T FATH (1) ==omfEs o9 3T &) ¥ amE #
F=fae oo == = (2) WAL g | 3HF F=AT
T T RSt A (3) Tz ¥ wrar Wigw) g
TS WA Iev| wua & T A (4ymfeT) e
T FUEET F AETH W (5) ¥ === =iew)
SubQuestion No : 4

U e & AT fow e (4) ¥ v
3UgFT S

Ans xl a?".




< 3. 33T
K4 FTET

Question ID : 9895806775
Chosen Option: 2

Q.5

Comprehension:

s ey ¥ o wet f ofF s F A= B
T TR F FEAR AT

ST FATH (1) somufEs oo 3fas &) & aeE #
TefE T e (2) WAY g | 3HF F=A
T TR AE=TEEt w (3) Tfez ¥ wWra=ar migw) gd
WO WA IET| @S R A (4y=fgT) T
= FHEEr F T o (5) F #===T T
SubQuestion No : 5

TN H THad Nad T+ (5) &
3UYFS G 2

Ans «1' g_cﬁm_

< 2. 3T
X 3 9T
K 4 Fogar

Question ID : 9895806776
Chosen Option: 1

U £y T Ty F BT e e A

S F TET g

SR

X2 S
X 3 R
X4 Fwhs

Question ID : 9895806783
Chosen Option: 1

Q.7




o = & R & BT 39w F 99T H

9s 97 e w2l
Ans x-]_ BT

X2 g

Vo B

X 4 TEAT

Question ID : 9895806767
Chosen Option : 3

&y I aEEY F BT v e &S

GIUgY & 91 I GAT
Ans '?(1- tﬁ‘@ﬂ'

X2 ofy

V'3 HIUEA

X 4 HEOEA

Question ID : 9895806784
Chosen Option : 3

*® fmT T F AT ¥ T SuTee e T TEe Fi

TR W A AR A S & Tnma J R
Ans x1ﬁé:|'

X 2 gy

v s el

4 3Rl

Question ID : 9895806769
Chosen Option : 3

% fow T I # 9 AT A9 w o FE T P

T & FHS e 3T =reem g 3= gEEw 2
Ans ‘,1. qﬂ
K 2 f3re 3ty TaTeeT geefT




X3 e ¥ gTEA
X 4 gAEET g

Question ID : 9895806761
Chosen Option: 1

V' RFa T F oA ¥ R sagEa e # T H

SHACY W Hgad oy, Ig e &t @i
Ans X1 afs

v 2 T

X< 3 gfewm

X 4 zgfere

Question ID : 9895806768
Chosen Option : 2

°2-1 hmm#ﬁﬁgﬁzﬁr@mﬁam#ﬁwnﬁmﬁmmmﬁ|

TAIT AT T FUEE W §, Iow [awred s A7 HEre o
Ans “1. ?iwﬁ

X 2 AT

F SRy

X 4 HEATR

Question ID : 9895806765
Chosen Option: 1

%Y T IS A oeg @ 99 Fi
Ans X1 fomanfor

& 2. Fromarsr

X 3 fqumafa

v 4 Fromarfor

Question ID : 9895806786
Chosen Option : 4

Q: it A 4 g8 Bwew s oaua w7 R on AT wee menar A s ad sres s

Ane XK1 Y T
X 2 qig faT & FR WHT AT




g} Sgd o= pael

4 FEd O ST

Question ID : 9895806782
Chosen Option : 4

% few a1v e & REE I

FE
Ans J1_ ET

X2 B
X3 AATH
X 4 AARE

Question ID : 9895806778
Chosen Option : 1

% fow T eree @ REE T
TaT
Ans X 1. Bag
X 2 °Te]
P )
v faEEr

Question ID : 9895806777
Chosen Option : 4

Q1 R W AE s WS W R b

Ferew w1 S g e ¥ PR s s # w9 9 e @ & w3 b
Az e E

Xz.ﬂﬁWHGﬂEﬂ'

X 3 3HSF HEROT §

X+ B 7T B genfaa g & e ¥

Question ID : 9895806762
Chosen Option: 1

Q{;1 for oo o # iR @2 @ sREeiE w9 S T svEs e = oaaa E )

TR Wl W T AT




Ans “1' FEIGG]
X 2 FHT
X 3. dc{TeTel

X 4 g

Question ID : 9895806764
Chosen Option : 1

U T 9T oreE F THTIETEY eE T 99T HY

HTETHA

Ans X 1. 3fearg
X 2 sfeTEag
' 3 feemar
X 4 3EraT

Question ID : 9895806780
Chosen Option: 3

U TEr IS AT e N AT FL
ans of 1 FETEAT

X 2 HgeAT

X 5 FETEHT

X 4 HTIgeHT

Question ID : 9895806785
Chosen Option : 1

% R e # e & T s9gEa aee & T

27 Jea F BT v W @ &
Ans 1. SEHT
X 2. F=ar
3 Fg=aT
X4 ST

Question ID : 9895806770
Chosen Option: 3

Q.2




ﬁvmmﬁmmmmmmtm%hmmmam

FTH T &5 AU &
A f | YT

X 2 g

K 3 =T

<4 e

Question ID : 9895806766
Chosen Option : 1

°§2ﬁvwmmaﬁ'mﬁmﬁﬁmﬁ#§%%r

Tl 9 9% A [ §. 7 o Tog fir A9 awh 75 Fan
MK s T R

X 2 FEpla 99 %

X 3 ¥ g& ISg Hr

v 4 39T ol FET gl

Question ID : 9895806763
Chosen Option : 4

U R 9T oreg F TSR eE FT TIAT FI

AT

Ans «1. ===
X o st

X o 7Ed
X 4 g

Question ID : 9895806779
Chosen Option: 1

Q2 fmrforsa & 3% fFew o7 s F0 S W B e g e e w7 b
K g g e
v 2 faeae g ST

X 3 g & AT

X 4 | F I F A=A




Question ID : 9895806781
Chosen Option : 2




